
1) Convert the following improper 
fraction 133/10 + 810/11 into a mixed 
number

Answer: ____________

2) Find perimeter of 
square having each side 
(s) equals 5334 ft

Answer: ____________

3) 92 x 10

Answer: ____________

4) 53 x 10

Answer: ____________

5) Find the percentage change from 140 
to 497

Answer: ____________

6) 1119/20 ÷ 85/17

Answer: ____________

7) Factorise 9f2 + 25f + 16

Answer: ____________

8) (-7414) - 7350

Answer: ____________

9) (-6398) - 9009

Answer: ____________

10) (-6398) - 9009

Answer: ____________

Total: ___ / 10
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Answers:

1) 2223/110 2) 21336ft 3) 920 4) 530 5) 255% 6) 11243/2820 7) (9f + 16)(f + 1)

8) -14764 9) -15407 10) -15407
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